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VIDYASAGAR UNIVERSITY

Question Paper

B.Sc. Honours Examination 2A23

{Under CBCS Pattern}

Semester - II
'Subject: 

GEOGRAPIfY
Paper : C-37

( Human Geography I
. FulI Marks : 6O

Time : 3 hours

Candidates are required to giue their anstL,ers
in their outn tuords as far as practicable.

The fiaures in the margin indicate full marks.

Answer from all the Groups as directed.

GROUP-A

l. Answer ang tem from the following questions :

2x1O=2O

(a) What is Lraby boom?

1673 (Turn Ouer )

ESIDEO'7

t

@



,tr6
d
g

a

G
H

H
o
o

-l

t
o

N

6

o
c)

€
-t

o
o
o
F{

o
-+

o
a
a
o
H

i+
p

O

g,
o
H

-q

CI
fro-dsrt-

I

E

@

ot
a

o
fi
Fl

t-o
ts
a+

a

0a

o-
o
a
a+

'x' (/)

s ..
ilt)

t\)

0q-
oagrq QECcr t,E@
<+

o
o
o)r+o
5iJ
rd
otp
.d
q
o
o
p
P
o
o

+l

!
H

p
H

o)

na>-^i t>
d\u
tsJrJaf.:1 ^

*ri+
^ 

H

5o
o5
+iJ

Aa
4

o

p
tp
o
a+
ot
+
o
a

t
o
o
p.

+

-
+*
.D'-o
+
s
a+
o
d
o
-f

o
o

Fl
p
o
o
s
tl-
o
a+

H

a+

UI

t
a
p

t
o

O
-fo

o

r+

np

FJ

o

5
3

o\

a
o
a
a
*

U
t
o

o
5
tsJ
a

p
ap

()

H
F

H

a+

J
a11
oil
oO
.+ F1<o.H

a+
p
a+
o
(J
o
a+
{o
o
t)

t
hdp
,)
p
R
p.

s
a
-i.H
p

o
fr
o
tr
I

o

+

1
o
Et

{
o
+)Fl

d

o

o

,n
!
o
d

o

Ya
N"

il
l..)o

P

62'\!
^5SYra 5

.ro'l
O-

a4=(DtsJ

-5oiDo

o *04
Fl<X
cd orE

;-l

O-F1 O

=+p

*1 lr+i F.
Or+

oY
EJ
rA

o\
g)

H
!f

eo
"{

p
n
C)

!.\.Flsecssose-€s
€ { *F p ?a { u u u o ut F ,gg $ *3 r $ $ $ 6 $: r E; H H; I t t t ? 5
q 6' 3I .' 6'.5 a ts. a ci o

I p iiu r Hq B $ il F E f:'=e,Doil'[P<P6 P? o r: 6 ,,{ E 3 g tl p 5'5 .+= "i to H ia E ,!i 3 uq8,? TH, H H; E' E B I S 3F ua ! H ! f'o il F H i; EEr o Xit E 6= [ e* F P oF- $ *, b x F =' F € +g 6 '1r5 iD.. :.+ q q ) !fitSq$:r8
oq6'"*E-+H,+96-c- g 5' E'.

EBHaop^6'F
l-

6. S .+ .X'oiEsth7
dtl',y')Hr50g;usoir

i-i +t

o
o

L
a-2g6-
5Do+uq x'
$iJ
U+
5H
5' iD

-|Of.l +
PE
,Ho)ni
;+c)
6'35r'H.

*AHr+
P t.oofua
ol-o+,

+roE'orn
Erl-
st
:J02dfrN^rg*

ln6
d
s

a

a



(4)
9. Discuss the role of the site in determining the

types and patterns of rural settlement.

1O. Briefly discuss the population resource regions
according to Ackerman.

11. Describe the livelihood of Eskimos.
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